Events

Data/pred.
cork

70

60

50

40

CMS 138 fb™ (13 TeV)

— T T T T | T T T T | T T T T T T T T T T T T T T T T | T T T T | —
— Best Fit: k,=0.9, kl=1.0 —
— ¢ Data I tHg (CP-even) [ ]JtHW (CP-odd) []ttZ [ ]Conv. -
— [ ttH (CP-even) [[1] tHW (CP-even) ] VH [ Diboson[[7]Nonprompt  —
— []JttH (CP-odd) [[]JtHq (CP-odd) [ ttwW [ JRares EXTotal unc. -
= b bt =
— N o) % 9
= < ?LQYO < ?LOYJ ok NS «o?LQ o7 =
E ?40‘ , <P c , <0 c ?70. ?40- . O Lgoﬂg? %0“’?‘09 -
— ol¢ 0‘5‘6 ng\, Q)o’io %0'(0 [\a) S o

The ttH node in 3l + Ot, category
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